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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3922668361 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chinese Traveller, Huen Tsang visited India during the reign
of this king

1. Harshavardhana
2. Ashoka

3. Kanishka

4. Satavahana

-
e |

i - s, ;:':‘ "—'_';: o~ ¥ FT - -
osnsb bl W OO e ¥ s o2

+
-

V- &
Sond s
S 2
Y 3
—
S 4
Options :
1.v1
2. %2
3.% 3
4. % 4
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[dentify the mismatched pair

1. Viswanadha Satyanarayana — Srimadh Ramayana
Kalpavrukshamu
2. Nanduri Subba Rao — Yenki Songs
;3 Srirangam Sreenivasa Rao — Firadausi — A Rebel
4. Gurram Jashua — Kandiseekudu
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Andhra Kesari titled leader to opposed lathi charge related to
Simon Commission in Madras was

1. Tenneti Viswanatham
2 Tanguturi Prakasam Panthulu
3, Rajagopalachari

4, Lala Lajpati Roy
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Chatrapati Shivaji fought with this king’s army

1. Akbar
2; Humayun
3 Mohammad Bin Tughlagq
4. Aurangazeb
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The Supreme Commander of the Armed forces of India is

1. The Prime Minister

A

The President

]

3. The Vice President
4. The Defense Minister
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The Present Vice President of NITI Aayog is

1. Suman Bery

[

Sindhusree Khullar
Amitabh Kant
4. [.G. Patel
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Identify the mismatched pair related to States and their folk

dances
L. Maharashtra — Tamasha
2 Andhra Pradesh — Dhimsa

o

3. Odisha — Chou

4. Gujarat — Chadya Dandanatha
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“Give me blood, and I shall give you freedom”™ these words
are said by

T Jawaharlal Nehru
2. Sardar Patel
3. Subhash Chandra Bose
4. Bhagat Singh
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The purpose of ‘Pradhan Mantri - Jan-Dhan Yojana’ is to
. Provide housing facility to all families

2. Bring all the families of both urban and rural area into
the preview of banking

3. Provide gas connections to all the poor
4. Provide financial assistance to the farmers
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[dentify the mismatched pair
1. 12" January — National Youth Day
2. 24" January — National Girl Child Day

3 8" March — UN Day for Women’s Rights and
International Peace

4. 28" February — National Physics Day
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The language which is called as “The Italian of the East’ 1s

1. Hindi

[~

Sanskrit

-

3 Tamil
4. Telugu
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The author of the book “Unstable Earth™ 1s

1. J.A. Steers
2. Gillbirt
3. Pascal
4. Delis
e L ‘Unstable Earth’
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The film *The Tashkent Files is based on the mysterious
death of

1. Lal Bahadur Shastri

2 Shyama Prasad Mukherjee
3. Homi J. Bhabha

4. Subhash Chandra Bose

: *The Tashkent Files’
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This 1s used for artificial rains

1. Magnalia
5.3 Silver lodide
3. Calcium Phosphate
4. Hydrogen Peroxide
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The name of the Indonesian National Airlines 1s

L. Tiger Indonesia
2. Garuda Indonesia
3L Elephant Indonesia
4. Cheetah Indonesia
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Identify the mismatched pair

1. Dollar — Barbados

(]

Rouble — Belarus

{ad

Won — Japan
4. Dinar — Algeria
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After March 2024, the eligibility age for senior citizen to vote
through postal ballot is

1. 70 years

[

735 years

=]

3. 80 years
4. 85 years

. wa |"-’ - F:_, - - ? j - S ,.j -
*- b H k / f N ¥ ' few
/J‘:J-.ll; e _‘._..-,!!,..:f;';,.'fh.’l el P . L,rl.:t (7 4 A e 4[}_4 |,_+,.f.J|r

L

J 70 J
Je 75 2
J 80 3
J-8 4

Options :

1. % 1

2.% 2

3.% 3

4.9 4

Question Number : 18 Question Id : 3922668378 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Dadasaheb Phalke Lifetime Achievement Award for 2022 is
awarded to

. Mithun Chakravarthy
2, Aiswarya Roy

1 Chiranjeevi

4. Hemamaline
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The Central Government has announced this pension scheme
for employees from April 1, 2025
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33" Summer Olympics 2024 was held in

1. Los Angeles (America)

[~

London (Great Britain)

¥

3. Paris (France)
4. Shanghai (China)
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Question Number : 21 Question Id : 3922668381 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“English language would contribute to the revival of India,
just as Greek and Latin contributed to the revival of England™,
said by

1. Elphinstone

2 Macaulay

3. Sadler Commission
4. Sargent Committee
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“The authorities audit report record” belongs to this section in
the school registers

1. Correspondence Register
2 General Register
3 Academic Register
4. Supervision and inspection Register
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This Article of the Indian constitution deals with the
‘education development of women’
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4. % 4
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NCLP school are managed by
1. NGOs

2 Government Teachers
3 Corporate Companies
4. Various Industries
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According to NEP 2020, Anganwadi workers / teachers who
has lower education qualification than 1042 will be given the
training for this time period

L. 6 months diploma course
2. & months diploma course
3. | year diploma course

-

2 years diploma course
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The word “Ethos’ is derived from

l. Latin
2, French
3. English
4. Greek
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This 1s the best method to teach moral values, as per the
recommendations of the Secondary Education Commission
(1952-53) and “National Curriculum Framework 2000

1.

ol

4.

Integrated approach
To teach value education as separate subject
Direct participation

Involving in various social activities
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“Listening Carefully to the opinions of others™ is this type of

value

1.

2.
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Question Number : 29 Question Id :

Democratic value
Social value
Permanent value

Spiritual value
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Under this section of the Right to Information Act 2005, every
citizen of India can request for information of his / her choice

l. Section 4 (1)
Section 6 (1)
3. Section 9 (1)

(S

4. Section 2 (J)

d s | %= T ra - ™ = I f - = e P T
e OGS b bases L S5 1L 2005 - = Y (506

Fa e
™Y R f * | I__,.-- T I.-r"
e el et nae L5 S e

Y

4 (1) J* 1
I 2

o) 3
20 J':E: 4

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 30 Question Id : 3922668390 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Wrongly matched chapters and its components of NCF — 20035

IS

1. Chapter 2 — Learning, knowledge

2; Chapter 3 — Perspective

3 Chapter 4 — School and Classroom Environment

4. Chapter 5 — Systemic Reforms
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The responses in Operant Conditioning are

l. naturally emitted
2. elicited
3. un natural
4. either naturally emitted or elicited
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This step of memory process can be measured by this formula

initial trails —relearning trails
g %100

initial trails
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Chronological age and mental age of a student are 12 years and
[Syears respectively. As per 1.Q. level classification he belongs
to this category

L. Very superiors

2 Superiors

i} Gifted

4. Given data 1s insufficient
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‘Self-smart” people possess this type of intelligence

L. Visual spatial intelligence
2. Interpersonal intelligence
5 | . ,

3. Intra personal intelligence
4. Naturalistic intelligence
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The stage when the learners regardless of their best efforts,
temporarily seems to “stop” making visible progress

l. Plateau stage

2. Initial spurt

3. Fluctuations stage

4. Spurt after plateau stage
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A boy is believer of God. He thinks that God never forgives the
sinner. Therefore he never did any sin. Here the motivation
involved is

k: Extrinsic motivation

2, Intrinsic motivation

3. Achievement motivation
4. General motivation
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“Understanding total learning situation”™ happens in this learning

L. Insightful learning

12

Programmed learning

;! Operant conditioning
4. Classical conditioning
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A student failed in SSC examination. But he dreamed that he
would be selected for IAS and became District Collector. This
defense mechanism is

1. Rationalization
2. Fantasy

3 Displacement
4, Denial of truth
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Symptoms of poor mental health is

l. Adequate ability to make adjustments
2. Socially adjustable
3 Lives in his own world of imagination and fantasy
4. Always lives in the world of reality
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Question Number : 40 Question Id : 3922668400 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This method 1s NOT useful to assess the personality of an
individual

a. Personality inventory

b. Minnesota Clerical Test

C. Bell's adjustment inventory
d. Metropolitan Readiness Test

# " .

. | C T e
i.,",'ffv".':-”r e ) _;”:q_,,-‘f LA e (3 )
(Personality inventory) = e A

oIS b

l. a, b
b. d

12

c. b

4. a, d

fad

Options :
1. %1
2.2
3.% 3
4. % 4
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Question Number : 41 Question Id : 3922668401 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If x*— 1 is a factor of ax?+ bx—3 then

o 7 R o 2 _ |
i xt— 1 07K ax™+ bx—5 /|

|35 =% b=l
2 a= —3, b=0
3. a=3: ‘b=t

4. a=—3, b=l

Options :
1. % 1
2.% 2
3.3
4, % 4

Question Number : 42 Question Id : 3922668402 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

(1.5x —4y) (1.5 x+4y+3) — 4.5x+12y+4y (4y) =

. 2.25x%+ 9y
2. 2.25 x2-16y>
o) 2 z
L 2.25 x* + 16y-
4. 295 %

Options :

1. %1

2.% 2

3.% 3

4.9 4

Question Number : 43 Question Id : 3922668403 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



5
A rational number is such that when you multiply it by — and
2
2 -7
add — to the product you get — . The number is
3 12
T L : S0 i w B abe ae w
ST G S pSemupi S e HruFr i
2 - 3 2 )
.',né::.._.:.;‘_.L":*fquv
~1
i —
2
1
2. —
2
I
2 —
3
1
4. -
3
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 44 Question Id : 3922668404 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



.2 3 4 9 _ -
If —+ =2 and ———-—==-1 then X e
Fes ol F Jx \fy 2 3
B .4 9 2 3 -
—+—: .T,-f!f ?—?:—]J*l —+ :‘___,-"|
3 ‘\."x *|||||||:'l‘1 '\/r; .T
l 5
2 6
3 9
4. 13
Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 45 Question Id : 3922668405 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If o, B,y are zeroes of X + 3x> —x— 3 thena® + >+ y% =
-

o+ I’j2+wf- = SUra, |3~T/:""7Lf-.1'3+31'2—}{—3;i |

4. [

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 46 Question Id : 3922668406 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



V{_ \/_ VF+J_ = a and ] = b then
B B st 5+2I
T P R o T
T 5206 5eade . V24N 23
[, a—={
a+ b=0

]

=]

3 a4+ = =8
b

& B

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 47 Question Id : 3922668407 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What is the range of the values of the constant K, if the
equation x? + kx + 16 = 0 has no real roots

g B P _f_b,._L,r.f“.‘_J, SR ke G TG =0 ot

S Fu'_!;ﬂ::

l. —3<K<5
2. —-2<K<2
3 —8<K<8
4. -16 <K< 16

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 48 Question Id : 3922668408 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If x = sum of first 40 even natural numbers

y = sum of first 40 odd natural numbers then y—x =

2 b i g
SN =2 40 M =x

. —40
2. 40
3. =20
4. 20

Options :

1.v 1

2.% 2

3.% 3

4. % 4

Question Number : 49 Question Id : 3922668409 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

- . e - . a -~ L
The largest binomial co—efficient in the expansion of (1+x)"? s

LA | i r - 3
-— J:f*'.lj;-.,.-f'_f::ﬂ;{;.. {|+x]l“

. 924
816
3. 792
4. 495

[~

-]

Options :
1.¥1
2. % 2
3.% 3
4. % 4

Question Number : 50 Question Id : 3922668410 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The domain of function y(x) defined by equation 3* + 3¥ = 3 is
1€ y(x) ._.;FL::!;_J:" P F+3¥=3 il

l. [3, o0)
2. (—oo, o0)
&, (—oo, 1]
4. (—oo, 1)

Options :

1. % 1

2. % 2

3. %3
4.9 4

Question Number : 51 Question Id : 3922668411 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

0 0
3 4 |and det A=45 thenx =
-6 x

i

If A=

Lh bd

[T @& D
“31..5 X—svidetA=45 .o A=|2 3 4|/
3 -6 x

[
3
=]

¥ ]

fad
~] O

4.

Options :
1. %1
2.% 2
3.% 3
4. 4

Question Number : 52 Question Id : 3922668412 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following is NOT TRUE.

. Mode is not effected by extreme values

2. Mean is influenced by the value of every

Observation in the data

3 Median is un effected by extreme values
4. Range of first ‘n” whole numbers is *n’
G"_-(_/r-?lg:ﬂur:ut :"‘E}.t'a"
T il
E‘KQ{J‘L’:}‘L«;{:— OLYYCIGlvd 4
e bbbl s ilin 88 o L2 2
VAL -y,
t’:fi_,;"::f;L’:JL&-::-u.!;;dugﬂ 3
s TS K-Lwl;_,}’; g 4
Options :
1% 1
2. %2
3.% 3
4.9 4

Question Number : 53 Question Id : 3922668413 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In first 10 overs of one day cricket match of 50 overs the run
rate was only 4.4 what should be the run rate in the remaining
overs to reach the target of 366 runs?

-

- + -~ f b I-" - -
BA4S e Z 10X Bl 2SS i L uan 50 L

= e e | . 2 - e
o " - - f | H e 1l
O Ao JaS il B L/ J bk Y366

L, 8.05

2 8.25
3 1.5
4. 7.05
Options :
1.¥ 1

2. %2



3. % 3
4. % 4

Question Number : 54 Question Id : 3922668414 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mean of a, b, ¢, d and e 1s 32, if the mean of a, d and e is
28 then the mean of b and ¢ is

Lesl ¢l b Fexr 28 beslE e sala, d /e 32b-s€ e sla, b, e, d
7 38
2 36
4

.
Tad

g 12

4.

)
]

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 55 Question Id : 3922668415 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The point of intersection of the less than type and of the more
than type cumulative frequency of a grouped data 1s (15.5. 7.5)
then median is

Al [ - o - -;_. -"""" . v |-FF.,-' - I’”? -~
Sle-s~ex (135, 1506 ,&ﬁ'grﬁ'u?:u’:.‘k,uflxr ,«__‘_-*_,'L.ﬁw’/‘,-_ju; o !

2 23
3 8

4. 1
Options :

1. % 1

2.% 2

3.%3
4.9 4



Question Number : 56 Question Id : 3922668416 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mode of the following frequency distribution is

= Lo

PO P 1 T 4
= v 4 S LBV OB OV))

C.I

0.00-0.04

0.04-0.08

0.08-0.12

0.12-0.16

0.12-0.16

[

4

9

4

7

)
|

E:

=

-~
s

4.

Options :
1. % 1

2. %2
3.¢3
4. % 4

0.11
0.03
0.06
0.09

Question Number : 57 Question Id : 3922668417 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the variance of 0.1.2.3.........9 1s K, then the variance of
10.11.12.13........19 is

€v 727€10,11,12,13,..

§

fad

K+10

10K

100K

K

Options :

1. % 1
2. %2
3. %3
4.¥ 4

sl K W 01123, D1




Question Number : 58 Question Id : 3922668418 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Two dice which contain A,B,C,D.E and F on their faces are
thrown simultaneously then the probability of getting two
vowels on two dices.

7 - o = o o i 3 E i |
JinL EE e h L U ysd s b L F s AB,CDE (U7,
s - v . & ;
JEEL s S ok Sy s gus
1

L —
18

[

1

2

3
3. —

3

1

9

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 59 Question Id : 3922668419 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A bag contains 10 yellow. 15 blue, 20 red and 25 green balls.
A ball 1s picked out without looking into it. Probability of
getting a ball that 1s neither yellow nor blue.

L& . # = i . ; Lz~
Ll On o b tnd 52 25 010~ 20 <& 15 15 10 257 L

= P

= * L“J * F;’ v . . - i Yol o
) r"L:I- b/—-.f:u L?.-V: L:i L,f"‘-f-r'.-‘l-'x';l._;r‘q-f'.‘.h—‘-r”-u I._.:'E' .JV':I

5
I —
14
1
2. —
7
X 9
s —
14
B
By
14
Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 60 Question Id : 3922668420 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



From a pack of 52 playing deck of cards. jacks, queens and
kings of red colour are removed. From the remaining cards.
Probability of getting black king card 1s

2 &

& | - &, f |z. (it - i~ P = ; i G e ﬁ "
aL{JLﬂrG-VI'y::L‘:E-f:JU‘I!EV’LJ-HHL].{{*U‘-\#—-&-J:.JL;I-’ C-—L;I.rv:q.'-""——-\_..r t‘S_

UFHL:':K;-,":UWL?
1
1i —
26
Zoa —
46
. 3
o —
26
1
. SR
23
Options :
1. % 1
2. %2
3.8 3
4.9 4

Question Number : 61 Question Id : 3922668421 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



There are hundred cards which are numbered from 1 to 100.
Find the sum of probability of getting a square number and
probability of getting a cube number

<

Floswis™ Limsuwls p L Lt 160 100 & 1 456 100
LY A OBV

. 0.10

0.12

3013

4. 0.14

[

J

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 62 Question Id : 3922668422 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A and B are independent events with P(A) = 0.2 and
P(B) = 0.5 Then P(A/B), P(B/A), P(An B) and P (AuB)
respectively are

L 0.2,0.1,0.5 and 0.6
2. 0.1,0.2,0.5 and 0.6
3. 0.1, 0.2, 0.6 and 0.5
4. 0.2,0.5,0.1 and 0.6
o P(B) = 0.5 s P(A) =020z &9 0 B sl A

L Uses A P(AUB) s P(A/B), P(B/A), P(AN B) .~
0.6 402,01.05 .1

060 0.1,.0.2, 05 i s
0.5.40.1,0.2,0.6 i3
0.6 1.2, 0.5, 0.1 4

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 63 Question Id : 3922668423 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Y- axis divides the line segment joining the points (-6, 15) and
(3, 5) internally in the ratio

o, b1 P Toph el .;IJ,‘,;:: . ¢ o
b/ = ey s Sy —Y 3 2B 13 _h¥(3,5) s (=6, 15) LG

-

I i
2 2:1
) 9:20
4 3:2

Options :
1. %1

2.¢2
3. %3
4. % 4

Question Number : 64 Question Id : 3922668424 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertices of a parallelogram PQRS are P (-3, 5), Q (I, 10),
R (3.1) and S (-1, —4) and M 1s the point on side PQ. The area
ARMS is (sq. units)

2 P (=3,5),Q(1, 10), R (3,1) U1.LPQRS {uaiéins LI
(EULHE )3 KARMS - MEJ 56 PQE°- 1t S (-1,-4)

- 144
2. 92
3. 46
4. 23

Options :

1. % 1

2.% 2

3.% 3

4.9 4



Question Number : 65 Question Id : 3922668425 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The area of an equilateral triangle whose vertices are (a, 0),
(—a. 0) and (0. a+/3 ) is 8+v/3 sq. units then the value of ‘a’ is

JEEL OISl L1152, (0, av3) 4 (a, 0), (—a, O) U1

,--

.udl_,, ﬂ \—-F'”':-l':-_-h, E?/l fg‘\.ll‘}!

L2
2. 2L
3. 4

Options :
1. %1

2.¢2
3. %3
4. % 4

Question Number : 66 Question Id : 3922668426 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference of length of diagonals of Quadrilateral PQRS
whose vertices are P (=6, 0), Q (-4, 3), R (-6, 8) and S (-8. 3)
Is (In units)

37 L1l S (-8, 3) 4P (~6,0), Q (4, 3), R (-6, 8) 1.
(UL O 60+ L Us /5L PQRS

. 4
2 4.5
3 B
4. 55

Options :

1.¥ 1

2. % 2



3.%3
4. % 4

Question Number : 67 Question Id : 3922668427 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the slope of a line joining the points A (a. 3). B | -1, 2% ‘ is

l then a*—1 is
E

w g - l kL e i -5 N
sPoa—l1 _:a,vr?g_,lL.-r:E/.&*?L.I_s;.;:?_rA (a,3),B |-7 2% | b6/ |
1 .
2
2 11—
4
5, ~f
2
4. 13i
4
Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 68 Question Id : 3922668428 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The direction ratios of a line are (=6, 2. 3). The direction
cosines are

Z O e A R e
LUngbs§ - (6,2, 3 ¥ o L-Hi.bh)"".L.l

l 6 =5 -8)
' /ol R
2 (2823
L7 777 )
= 6 —2 -3
iy 8 S ik T
5 3 "5
s (2855
3 58
Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 69 Question Id : 3922668429 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The angle between the straight lines represented by
2x* +5xy+2y*=5x-Ty+3=0 s

QP L b S e 23 + 5xy+ 2y —5x—Ty+3=0

L SR
2 cos” é
ol 4D
3 Sin™" E]
I 3 "'-I
4 tan™’ —‘
5 5 A

Options :
1.¥1



2. %2
3.% 3
4, % 4

Question Number : 70 Question Id : 3922668430 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The equation of circle with centre (2,—3) and passes through
(=5,1)is

=

* | # +--' i .a"} i B <
b e (5,1) Lol (2,-3) 7 LB e lalab sl

L; x*+y*—4x+6y-44=0
+y +4x—-6y-44=0
x*+y —4x+6y-52=0

4.  x+y +4x—-6y-52=0

)

(8]

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 71 Question Id : 3922668431 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The eccentricity of a rectangular hyperbola

s

-!IF-' I'-{- -M
e Sl g

] '\."IZ
2 V2 +1
3 *\.'E
4. I
Options :
1.v¥1
2. %2

3.% 3



4. % 4

Question Number : 72 Question Id : 3922668432 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If A=45"then the value of (CosecA—SinA) (SecA—CosA)

=

JJ:"J[COSE’:Cﬁ—S.H]A} (SecA—CosA) e A=45"/1

b | L b | =

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 73 Question Id : 3922668433 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AABC is a scalene triangle with base AC, if AC = 6cm,

AB = v3cm and ZBAC = 60°, then the area of triangle in cm?
s

AC = 6cm, JI_c ACosb KU~ o &b Lo ¥ {1 AABC

Kl I Kk Z/BAC = 60°5AB = 43 em

. 45

2. 3.3

3. (4.51/3
4. 153

Options :
1.v 1



2. %2
3.% 3
4, % 4

Question Number : 74 Question Id : 3922668434 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which among the following increases continuously in the
range 0" <8<90°?

S tw i) LSS U 0 <0<90° 2r

L, Sin®, Cotb

SecB, CosB

3. Sin®, tan®

4. SecO, Cosecd

]

-

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 75 Question Id : 3922668435 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If Cos (x+350") =Sin (y —50") then Sin (x+y) — Cos (x+y) +
Cos30°
—32Cos (x+50°) = Sin (y — 50°) /'

44 Sin (x+y) — Cos (x+y) + Cos30°

] V3
' 2
N \'I§+2
s 5
3 '\-"E"l'l
A, >
4 3-[“».-"5
2
Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 76 Question Id : 3922668436 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of Rhombus ABCD is 18+/3 cm? and BD = 6¢m then the
ZDAB

,-'AFJLDABT.?@:BD = 6cm oo 18+/3 cm? L EABCD ol
. 30°
2. 60°
& 90°
4. 1207
Options :
1% 1
2.¥2

3.% 3
4, % 4



Question Number : 77 Question Id : 3922668437 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Inner part of a cupboard is in the Cuboidical shape with its
length, breadth and height in the ratio v/2:1:1 , then the angle
made by the longest stick which can be inserted into the
cupboard with its base diagonal is

| b

1 17 # = T % . ' Wi g Ij.
:fru'Z:l:IgMJ_!lv",fcuff_.u':;(U’L‘”u._..ﬂ:t*.ﬁ?ugmlbijl..gl

-

Sl wlb LEMKSZ Sy e r S RO Mo I -
. #
f.d.l'l.._r.'lkt'.;-
L 45°
2 60°
%, 30°
4. 13
Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 78 Question Id : 3922668438 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following does not exist for some value of x’

Options :
1. % 1

o _' | gem wen el
HI _.# . [ il -
B 323 S S LIRS O ‘X
—21
Cosx =——
i 26
Sinx=-——
tanx =29
Secx=1.9



2.9 2
3.% 3
4, % 4

Question Number : 79 Question Id : 3922668439 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of Sec (2100°)
38 Sec (2100°)

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 80 Question Id : 3922668440 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: : 3
Ina AABC,Ifa=3, b=4 and SinA = p then ZB
Gl 3 -
MO LB SinA = g sa=3,b=4_/1J. AABC
1. 9()°
2 60°
3. 45"
4, 30°
Options :
1.¥1
2. % 2

3.% 3



4. % 4

Question Number : 81 Question Id : 3922668441 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

" 2 . .
If SecB+tanB = q then value of Sin® and the quadrant in

which “0° lies

‘ R 2
etk O S Cmessil S Sin® Fex SecO+tand = 3 A
- 5
L. SinB = o fe Q,
i
- 5
2. Sin® = i e Q,
i
o . 5
3. Sin@ = +—.0€ Q,
iy
. 5
4. Sin® = +I_"' e Q,
23
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 82 Question Id : 3922668442 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

For two non—zero. non collinear vectors a and b if
[u+b [: a—b [ then angle between a and b is

Eb s a,,,i'c,-«clu+b[= a1—b],;lu_’;,'HL5f"p'(?_,:‘; J_ﬂ,}"ﬂ?ﬁ b . a

L. 60°
2. 90°
3. 120°

4. 150°



Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 83 Question Id : 3922668443 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the Parallelogram for which the vectors
a= 21-3j+3 K and b =1 + 2j =5k are adjacent sides is
(in square units)

-

b=i+2j—5k s a= 2i-3j+3 UL )" L JEE uemn S

(u': .._,'_S'ZFE]E,IT/?" )-;_.r::

I 782
2 390
3 4299
4. 4158

Options :

1. %1

2.% 2

3.¥3

4. % 4

Question Number : 84 Question Id : 3922668444 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[f OA= 1+3j+2k, AB= 3i-2j+k, then OB =
OB = .,_+_:f_!".' OA: |+3‘]+21\. AB: ;gi—21i+h,ié|

. —2i+5j—k
2. 2i-5j-k
3. 4di+j+3k

4.  —4i-j-3k



Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 85 Question Id : 3922668445 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[ ,1 dx =
X +9

1 i T
9 !

’, I J

2 —Tan x+c
'l X

3 —Tan" ‘ — [+c
3 ),

4. lT.an"'.wr +c
9

Options :
1.% 1
2.% 2
3.3
4. % 4

Question Number : 86 Question Id : 3922668446 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Sinax

The value of lim b#0, a+bis

=0 Sin bx
NPT | T/
20 lim— b#0,a#b
x—=0 Sinbx
1 ab
%
b
.,, b
5 I =
i
log, a
log, b
Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 87 Question Id : 3922668447 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
[f f(x) = e* + Sinx Cosx, then f'(x)

f'(x) «~<s f(Xx) = e* +Sinx Cosx ./ |

l. e* +Cos 2x
£ e* +Sin2x
3. e' +2Sinx

4, e* +2Cos x

Options :
1.v 1
2. % 2
3. % 3
4. % 4

Question Number : 88 Question Id : 3922668448 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



x3inxdx=

.'—*—‘l-\_ll Eq

1]

[
e

NN

4, T

Options :
1.% 1
2.9 2
3.%3
4. % 4

Question Number : 89 Question Id : 3922668449 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the TRUE statement/s
(1) 2kg:500g=10km: 2.5 km

(11) 20 seconds : 3 hours = |1 meter : 900cm

(iii) <1 : 10 paise = lem : Imm

L. only (1)

2, only (1) and (i1)
3. only (i1) and (111)
4. only (1) and (111)

I,-"

S SO = b/l

HEDS 2 E10=,500: 0K 2 @)
5900 21 =23 20 (D)
ol ZFE1=210:31 (i)

(i) A ” 0

(i1) s (1) <~ )
(iii) oo (1) G~ 3
(iii) 48 (i) /7 4

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 90 Question Id : 3922668450 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The difference between compound interest (compounded
annually) and simple interests on a certain amount of money
for two years at 4% per annum is ¥10. Then the amount of
money is

| RO 0
)4 H/...JJ I”H")l-' _ 'r%--ﬂ-ullu".f};-.}y-:;/f' "‘I'(é'rf' #LlLf'%-f-fx;?

e N0 36 bl G Ut SIL S s’

1. < 6250
2, < 6300
3. < 6500
4. < 7500

Options :
1.v 1
2.% 2
3.%3
4. % 4

Question Number : 91 Question Id : 3922668451 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expenses on oil, vegetables and rice of a family are in the ratio
12:13:15 respectively. The prices of these are increased by 20%,
30%, 50% respectively. The total expenses im:re:]sed b}!

-

l..-l'?'L'.-r :——] i 25 ]s-..--’ﬁu._.'-""Jl_,,._.fL?lf“uI l.?,rﬂ'g 1.9 +,_, r“_. II,_.q.L;-__,LI

2 ol = bl 71 M SLIE 20%,30%, 50% <5 A S UEE

L. 32.5%
2. 33.5%
3. 34.5%
4. 35.5%

Options :

1.% 1

2. %2

3.¥3

4.% 4



Question Number : 92 Question Id : 3922668452 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In a hostel of 180 boys the food material 1s sufficient for 37
days. After 12 days of hostel life, 30 boys left the hostel. The
number of days for which the remaining food material will last is

uF:UPL'CJI'Flz b W _,.,r"'. L""1 HA"‘—-E—-U‘-?)?-UJ"I_,- L"-FL{L-F‘—-J-—-.-’ 180

=

# '”f ¢ | .-‘lr? I - i F
__L:VI}/' ),r"LJ 1.‘___‘5-' Ir \L;wiéiﬁb___‘f g:—-_,k%?_bb.}(]ﬁ}f;-;-}
J 30
2 32
3. 34
4. 36
Options :
1.¥1
2. % 2
3.% 3
4.% 4

Question Number : 93 Question Id : 3922668453 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the cost price of 12 apples is equal to selling price of 18
apples, then the loss percentage is

. . -
,u-"".:*i;,,'l..-?r — X Sala "+_!_,-*’:.r—f|,_,‘l:*..+.—f18gh7'x '~._..r12.f’|

2 50%
5, 55w
3
1
4 30—%
3
Options :
1. %1
2. %2

3.3



4. % 4

Question Number : 94 Question Id : 3922668454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An amount of I1170 is divided among three persons A, B and
C such that 3 times A’s share, 2 times B’s share, 4 times C’s
share are equal. The shares of A, B and C respectively are

362 LA A L AUIo L C sl A, B 4/ 3572 .8 1170

L sl n S biCul A, B8 AK 00 LCllss6 0 ZBAS

T
L. <270, %180, %360
2 <390, 3260, 520
;3 3520, %390, X260
4. 3360, I540, %270
Options :
1. % 1
2.% 2

3. %3
4.9 4

Question Number : 95 Question Id : 3922668455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Percentage of numbers from 1 to 70 (including I and 70),
which have 1 or 9 in the unit’s digit

Ll i\t 1 e wrgr L3670 111 Js™) st £ F706]

A.-“;f- sl il
1 20
2 25
3 30
4 35

Options :
1.v 1



2. %2
3.% 3
4, % 4

Question Number : 96 Question Id : 3922668456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The smallest 4 digit number which is divisible by 9, 18, 24
and 32 is

il 4
0]
=

AtV 2320019, 18,24 2ok k1 4 o 7

a
Tl 0 8 |
-+

B 1080

2. 1152
3 1306
4. 1536

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 97 Question Id : 3922668457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following is/are terminating decimal(s)
. 16 .. 143 ... 9
(1 — (i) — (i) —
125 110 15
I (1) only
2. (1) and (11) only
3 (1) and (i11) only
4. (1), (11) and (111)

P e Yo .
u“'f.:'_,.« EASIRPILy UY e U-'_'_ OV,

) 16 ... 143 0
LT e = o
(1) 175 (11 10 (111) T
(D=
(ll) il (l) - 2
(111) oo (1) 2 3
(i) . G () 4
Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 98 Question Id : 3922668458 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
! 1 g
: b A b \ -
If ]DgSL ]ﬂg4{,IDgﬁ)J—T and ]ng3| g7 ;I——lthen HCF (x, y) =

= |z, }r}l*‘-i_{,_*.;f::]c-g?,[ log;? ‘:—] 4 loggf log4ilngg] }:%f|

g
WO L e

Options :
1. % 1



2.2
3.% 3
4, % 4

Question Number : 99 Question Id : 3922668459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[f the pair of integers (a, b) such thata + b =-3 and
a+b+8=0,thena=

g - 5 o~ - Pl oy If' 65':
sa+b+8=0sa+b==3 L U (a b)SI2S1uC

a = el

()
-

Options :
1.% 1
2.% 2
3.3
4. % 4

Question Number : 100 Question Id : 3922668460 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statement is TRUE?

- {-’ -
Ca UL S50

b2
B
|
B
Il
Ju
|
|
|
B

3 4+(4+4)=(4+4)+(4+4)

| (O (1)
4. \14—1:1_74_(474;—]_.1—.4;}

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 101 Question Id : 3922668461 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

313.824 +3/15.625 -3/17.576 =
L. 3

ad
~

[~

)
b

4.

S I
n e

]
|

Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 102 Question Id : 3922668462 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Let abc be any three digit number, then abc+bca+cab is not
always divisible by

e

it i

"'cl B e Lo ~ . Y i ¥ L]
A S abctbca+cab e su§ Rl L) abe S & S/

I a+b+c
3

3: 37

4. 17

)

=

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 103 Question Id : 3922668463 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

IfA= {x: x=n>+1,ne N,n 114}, B ={x:x1s an integer and
>-9 = 0} then which of the following is TRUE
A= {,1':,1' =n"+1,ne N.n 114};'PI

-

o

- 3 '; = sl 7 i r
_Lilw': -_,I-".Vt;:-,n._'.r B ={x*-9=0slcs40 LIx:x}

1. n(A—B)=35
2. n(AmnB)=1
3 n(AuB)=5

4. n(B-A)=2

Options :
1. % 1
2. % 2
3.%3
4.9 4



Question Number : 104 Question Id : 3922668464 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the WRONG statement

7 All rhombuses are parallelograms
2. All squares are rhombuses and rectangles
¥ All rectangles are squares
4. All parallelograms are trapeziums
S0
S nl e R ol
. b .
B e & ol

t:
S

L,jr_..,"?i_'.fv]:k ¢

NS
e 5 5 b | E

s a :'.,‘.. - A oay o
L2 7 Chelipily ¥

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 105 Question Id : 3922668465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In AABC, DE/BC. If AD=2.3cm, DB=6.9cm and EC=4.5¢cm
then AE is

v EC=4.5cm.s AD=2.3cm, DB=6.9cm ,fr _DE//BC % AABC

JASAE

I 3.0cm

2 [3.5¢cm

3. .5 cm

4. .8 cm
Options :

1. %1



2. %2
3.3
4, % 4

Question Number : 106 Question Id : 3922668466 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘AB’ is a chord of length 10cm which is drawn in the circle of
center ‘O’ and diameter 26cm. The perpendicular distance
from center to the chord is

v ST "FF. . - | Sl & . e by . -
JEE U AB /Ll Lo F13d_1522 4 26cm 23 15 ‘O’

Lebi$af € e Y o 10em

l. 10 cm
2 16 cm
% 13 cm
4. 12 cm

Options :

1. % 1

2. % 2

3.% 3

4.9 4

Question Number : 107 Question Id : 3922668467 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A circle touches all four sides of quadrilateral KLMN.,
If KL = 12cm, KN = 14cm, MN = 18cm then LM is

—e b/ o LKLMNG ™ oo /15

JBELM —=ewKL = 12cm, KN = 14cm, MN = 18cm /|

P 8 cm

2 20 cm
3 16 cm
4. 44 cm

Options :



1. %1
2. % 2
3.3
4. % 4

Question Number : 108 Question Id : 3922668468 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The supplementary angle of an angle ZA is three times to
angle ZA. The sum of complementary and supplementary
angles of ZA is

BB L LA e S LUEL LA ~uj:-‘5'€./_fA 1)
A2 i

i 45°

2z 180°

3, 1357

4. 90°

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 109 Question Id : 3922668469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of an exterior angle and one of the any interior
opposite angles of an Lqmldteml triangle 1s

. [ A -~ - . s _;-....
:-"'ffu' ‘1J|_,.- l‘é.—-l_,- H“h--’hru_f.i*r *l;u.g‘L?__&l;’___._"_ﬂ#‘,ijl L!__.E

2 2:1

3 I3

4. 31
Options



2.9 2
3.% 3
4, % 4

Question Number : 110 Question Id : 3922668470 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a triangle 1s 12 cm. If all the three sides have
lengths (in ¢cm) in integers, then how many such triangles are
possible?

om s

=3

-
5:_7, o ;.‘ ! |'-a * i* s * i o & &
9l (e o S ISP Lo r e/ e 12 cm bl el L

- _— e .......-"' e e
S e B L pn s

2 2
3 3
4. 4
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 111 Question Id : 3922668471 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



CART i1s a rectangle. Intersecting point of diagonals ‘CR’ and
‘AT’ is ‘O°. If CO = x* +3x+7and OR = x* +4x +5then value
of x and length of any one of its diagonal respectively are

1. 4 and 35

2 land 11
3. 2 and 34
4. 3 and 25

- ‘O’ LG5 AT 1 ‘CR’ Froe 7 L CART

- I"" & 4 i
A Ex et OR = x"+4x+5.CO = x*+3x+7 /1

e el
S als )

T T
35 .44 N
11 .0 1 f,
34 542 3
25 .43 4
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 112 Question Id : 3922668472 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ratio of the slant height and height of cone is 2:+/3 then
the angle between radius and slant height is

1 $ =8 i 5 ook K= 2 0
JL;!F/M..M’._,.W_;_ u?uh&rd 2:«/@ dewﬁl:;!‘uwl:uﬁ'hd J:Jf...y

~ :«ULE'L;-U:E/JA

[
S
N

=4

4. 60°

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 113 Question Id : 3922668473 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cone of height 7cm and base radius 3cm is carved from a
cuboidal block of wood with dimensions 10cm X 6cm X 2cm.
Then the percentage of wood wastage in the process is

.L.sf..J.l.:.r_.JJ ._.L,;J"b-’._.ﬁf (101522 s 10em X 6cm X 2¢m

’ Fh e
L—”"ulﬂw J'ru I~ 3cm B idEe i ol Tem ($4k ~u"'3 L s
i R
A2 K5 #
I 45%
N 1
2 42—%
2
3. 33%
1
4 33— %
Options :
1.v1
2.% 2

3.%3



4. % 4

Question Number : 114 Question Id : 3922668474 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD is a parallelogram whose adjacent sides are equal and
BD=13cm, area of ABCD is 65¢cm? then the length of AC in
centimeters.

«BD=13cm sl f $sbr 22 U L * < Lo S5 LI ABCD

_UEUs T UPEAC e 65cm® 36 ABCD

I J
2 10
3 6
4. 9

Options :

1. % 1

2.2

3.%3

4. % 4

Question Number : 115 Question Id : 3922668475 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A right triangle with sides 5cm. 12cm and 13cm is revolved
about the side 12cm. Then the ratio of curved surface area
and total surface area c-f the solid so obtained

F '*,III':F f. - e
LWLl 12cmy &b oliff g ...LI'J_.I,-_.J 13c¢m s+ S5em. 12cm k=l

-..M’ 'L-";'f_i,.:.ajzﬂ .,_,E/.f“,..” .,_5} »:-u"""H_-Hr_-, uww 1:
L. 12:5
2 13:12
3. 13:18
4. 25:12
Options :

1. % 1



2. %2
3.3
4, % 4

Question Number : 116 Question Id : 3922668476 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following groups of English alphabet letters have
both horizontal and vertical lines of symmetry

&= - el == L ey

- -y
=0 i K L+ ~ - 2 i i -‘:"., P T Ly I L‘+"F
-_‘...u?;_g;_,bﬁ'.e':,‘”ﬂ_:::f;_ﬂj Y S/ (& et g i N R Hoatd

. CX.T
2. X,H, O
L7 . 0
4. A, B, C

Options :

1. % 1

2.9¥2

3.% 3

4. % 4

Question Number : 117 Question Id : 3922668477 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a cube is 216¢m? then the length of its diagonal
In centimeters

-~

LU P62 LIz 216em’ rf §ab L]
L. 83
82
3. 6+/3

4, 6v2

[

!

Options :
1. % 1
2. %2
3.3



4. % 4

Question Number : 118 Question Id : 3922668478 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If diagonals of a Rhombus are 7cm and 3 cm respectively then
the perimeter of quadrilateral which formed by joining
mid—points of the sides of rhombus in cm

l g 'h__.- - * f ,Jf * . - o
SIS L L ot 3 em sl Tem oA 5 Lo L

P e G ¢ g
LU ST lod s go J7

2. 10
3. 5

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 119 Question Id : 3922668479 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio between the perimeter and the breadth of a rectangle
is 5:1. If the area of the rectangle is 216cm?, then its length in
centimeters

-

--r“"‘f AIGLIT]“inUEhH. l.fl ﬁ l»_--—""Jul_,.- j,';‘ln!‘-’L?lb L»-&

U AT U
1. 16
2 18
& 24
4, 26
Options :

1. % 1



2.9 2
3.% 3
4, % 4

Question Number : 120 Question Id : 3922668480 Question Type : MCQ Option Shuffling :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The length of the minute hand of a clock is 14cm then what is
distance covered by the minute hand in 10 minutes in

centimeters?

00/ & ez 1063 Lo 14em JPElre iy .....Lf:|
N LIS ABI A IR
2
I 14—
1
2 15—
3
. 1
3 102—
2
4. 102—
3
Options :
1.v 1
2.% 2
3.% 3
4. % 4

Section 5
Section Id : 392266265
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266265
Question Shuffling Allowed : Yes

No



Question Number : 121 Question Id : 3922668481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the definitions of the Mathematicians
A. Francis Bacon i Science of quantity

B. Aristotle i1, Mathematics is the
indispensible instrument of
all physical researches

50 Kant Ii. Indirect Measurement

v, Gateway and Key of all
sciences

&y - I,_/ ..: *
Sl (VY 4 RN P g PR T W

FLéie i i A
. e 22 .| - oy B
e S oK% 3 BP0 Al J .
a1 i
Jkdldy i =6 C
;"__i ;!*ai':‘;:?l":kl"ﬁ BAY

L: A-wv.B-1u,C-1
A-ui,B-i1v,C-1i
3. A-wv.B-1.C-1
4. A-ui,B-iv, C-1i

Options :
1. %1
2. % 2
3.¥3
4. % 4

[~

Question Number : 122 Question Id : 3922668482 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The statement “No Subject loses more than mathematics by
any attempt to dissociate it from its history™ was said by

k: Lim

2. Chapman

3. Fried

4. J.W.L. Glaisher

sa If z I’X'IH ™ va -.T o T I--' .4-0 - |'-f # i . "'Fr;l'
bty SR b U U Bl p /s lle = 500 1S Ol L_f:‘r-._}

4
-

o =¥ o2

1/ 3

(. 4

Options :

1. % 1
2.% 2
3.% 3
4. 4

Question Number : 123 Question Id : 3922668483 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The person who along with Bertrand Russell. challenged that
“any one could show where logic ends. there mathematics
begins” was

|8 Descartes
2 White head
3. Felix Klein
4. David Hilbert
&
E/n.:&}‘ (G *-If"f- :J:/f:.rL & 3 :/,jvjf:pﬂ </ ILP e l..f; VA% L Jf ";‘:’-;‘f

e (bsel i) nJ"LJVlw y;lfl,t“g'l

;-J'E'E l
J_i-:’"._.r“ 2

= 03
L.'.r":*b Jﬁk‘ 3
<y -

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 124 Question Id : 3922668484 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct statements

L. Inductive reasoning is not a valid method when
concerned to proof
I1. Though deductive reasoning appears to be simple, there
is every possibility of going incorrect in many
situations
L [ 1s correct; II 1s incorrect
2. [ is incorrect: I 1s correct
3. Both I and 11 are correct
4. Both I and II are incorrect
5
Lu LB 'L-;C}'
Lp-f.ﬁj/l’MJ?_.QJUE*JF}:'*JEAL;; A
0

ii_y.'};f&.u L.z'-df'“" --.. g L;-p)z O "UEIJUM1 n/f’j 1

Ll | =LK
o~

el 1 .1

< Meicwl 2
Y-
SC Urn I s 1 3
L_,:th;;_j;_!? [T s 1 4
Options :
1. %]
2. % )
3.3
4. % 4

Question Number : 125 Question Id : 3922668485 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Because of whose writings, the work of Pythagoras and his
disciples became known to the world

Il Epicaramos
5 Hippopotas
3 Phyllodus
4. Architan
ar e . Fa - s
~I¥aT el :l’b{- a3/ L Sl s B e 200U F 00U
A
O ‘z'é'g_;;* N
bl 2 2
JiZ 3
S e
L‘.r-# A 4

Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 126 Question Id : 3922668486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In which year the Indian Government issued the postal stamp

for the first time in honor of Srinivasa Ramanujan

- A S . . Lﬁr i —~ ~
| | f i i f - Eovi  mg iy o nn = i
-E" JJLFJ — |,‘L;r:..-'|fgr’_-";"JrLjJLF'jJrL:'/J‘ -~ /u‘nJ—-M'—ﬁ"‘; l_,rl'l.-"‘;_,art

. 1962

2. 1987
3. 1992
4. 1997

Options :

1.v 1

2. % 2

3.%3

4.% 4



Question Number : 127 Question Id : 3922668487 Question Type : MCQ Option Shuffling : No
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Mathematician who was the first to suggest that letters can be
used for unknown quantities

1. Aryabhatta

2 Pythagoras
4 Gauss
4. Archimedes
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One of the mathematicians who introduced the School of
Intuitionism

b A.N. White head
Z; Bertrand Russell
%, Henri Poincare
4. David Hilbert

-~ - Fhaae + ¥
i = 0 owe * - - i o -
Y Ty :.flg_!:/&' —|/ U: ra k_;v_l'_,*.;, i3

e A DI ¢ .

Vl:‘: .J'.A;:.:J;J: .2

AN A3

ATk 4

Options :

1. % 1
2.% 2
3.¢¥3
4. % 4

Question Number : 129 Question Id : 3922668489 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[dentify the correct statements

L Understanding : The pupil established relationship
between two quantities given in a problem

I1. Application : The pupil corrected an error in a given
concept

1 I is correct; I is incorrect

A

[ i1s incorrect: 11 1s correct

Both I and II are correct

(o

4. Both I and II are incorrect
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A scientist who wonders “how mathematics has got so many
uses in the world even though it is man made™ 1s

n Newman
2. Taylor
i 3 Einstein

4. Hogben
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The statement “the student will be able to predict the shape of
truncated cone” 1s the specification of this objective

L Skill

2. Knowledge

5 Understanding
4. Application
el
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Which of the following is not the principle of curriculum
construction?

L Principle of Difficulty
2. Principle of Flexibility

¥

A Principle of Utilitarian value

4. Principle of Activity
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If the student learns the concept ‘Integers’ in the beginning
and again after some gap in the class 7, the curriculum
organized in the following method

L Topical Method

2: Concentric Method

J

3 Logical Method
4. Spiral Method
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A good mathematics textbook should contain examples that:

1. are extremely complex to challenge students

2 are in accordance with the situation and with clarity
3. are only focus on the gifted students

4. are unrelated to the text to increase difficulties.
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A ‘Preface’ or ‘foreword” at the beginning of a textbook
describes the following of the textbook.

A, Specify the Scope

B. Specify the advantages
A Specify the objectives
D. Specifies the values
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What 1s the role of “Mistakes and errors™ in Heuristic method
used in Mathematics teaching?

b Mistakes and errors are not tolerated

)

Mistakes and errors are seen as failures

s

Mistakes and errors are valuable learning opportunities
There is no room for mistakes and errors.
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‘Education is Life’ stated by

ji Lord

5.1 Kil Partrick
3 John Dewey
4. Stevenson
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When using problem solving in mathematics, which one 1s the
key factor of success?

L. The speed at which a student solves the problem
2. The ability to apply learned concepts to new situations
B The number of problems that a student can solve in a

set time
4. Student’s ability to solve problems without any errors.
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A suitable topic for teaching in project method

k- Area of a circle
2. Pie chart
3. Discount
4. Surface area of a Sphere
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This 1s not included in a unit plan.

. Content analysis
Z: Teaching strategies
3. Teaching learning material
4. Evaluation
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“A teaching outline of the important points of a lesson
arranged in the order in which they are to be presented, may
include objectives, points to be made, questions to ask,
references to materials, assessments etc.” This definition for a
lesson plan is given by

L Herbart

2, Good, C.V.
3 Bloom, B.S.
4. Morison
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Which of the following is not related to Herbartian steps?

I Preparation
2. Presentation
i 8 Response

4. Application
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“A unit 1s a large block of related subject matter which can be
over viewed by a learner” stated by

1 Herbart

o Preston
3. Galton
i, Thur«;ton
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The influential experience in ‘Learning through observation
category of Edgar Dale cone of experience.

1. Motion pictures
2 Demonstrations
3. Field Trips

4. Exhibits
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According to Edgar Dale’s cone of experience, which of the
following 1s correct?

. More Passive experience — High retention
2. More active experience — High retention
3. More Visual learning experience — High retention
4. More auditory learning e‘qperience — High 1'zf:tzf:ntinn
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Which of the following has to be considered while selecting
teaching learning material?
A. Price only

Availabilities only

B
e Compatibility Objectives
D

Popularity
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The aid used for vocabulary, symbols in the lesson, how to
pronounce them or for revision is

L Peg Board
2 Bulletin Board
3. Geo Board

4. Black Board
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Which of the following are the enrichment activities for gifted
students?

L. Providing historical developments of various topics
1. Appreciation the good work done by them.
11, Limiting the divergent thinking perspective.
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Identify the correct statements

L. Games and laboratory activities are suggested as
supplementary material for slow learners

IL. Test items from mathematical Olympiads and national
talent tests should be provided as supplementary
material for slow learners.

Both I and II are correct

2 I 1s correct: II 1s incorrect
% Both I and II are incorrect
4. [ 1s incorrect: 11 1s correct
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To teach slow learners, the teacher must possess this trait
k- Efficient

2: Experienced

s

Subject Expert
4. Resourceful. Efficient, Subject Expert
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Which of the following is a strategy to improve accuracy

1. Practicing problems with a time limit

)

Skipping difficult problems and returning to them later

s

Encouraging verification of results,
4. Focusing on speed rather than method
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Oral work 1s considered as important in teaching mathematics.
Why?

1. Useful in memorizing Principles
2 Encourages active Participation of students and
immediate feed back
3. An easy method for teachers to use.
4. Useful for improving hand writing skills
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Main aim of using ‘Drill work™ in teaching mathematics

I Develops creativity

)

Useful for students to work together in implementation
of Complex projects.

3; Replacing the need for conceptual understanding

4. To strengthen the understanding and skill of the
students on fundamental mathematical skills.
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A book having ‘Kantikaabharanam™ Problems which were
examples of mathematics order

L. Leelavathi Ganitam
2 Aryabhatteeyam
3. Ganita Saara Sangraham

4. Pancha — Siddantika

i - P e : 5
ezl bi =t L ‘Kantikaabharanam® (=~ —

|"vgu9£|g;" 1
a
(=LA 2

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 155 Question Id : 3922668515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The arrangement of triangular numbers belongs to this form of

mathematics aesthetic structure

1. Pattern

2 Symmetry
5 Sequence
4. Order
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Who states the need to Start a Mathematics club in the School
1 NPE - 1986

Z: PoA - 1992
3. Kothart Commission
4, Mudaliar Commission
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Match the following

A. Validity L. Easy to administer
B. Reliability 1. Measures what it is
intended measure
B Objectivity ii.  Consistency of results
D. Practicality v, Free from bias and
Provide impartial results
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A teacher is interested in assessing both the factual knowledge
and critical thinking skills of his student. Which of the
following would best serve this purpose?

k: Fill in the blank Questions
2 Essay Questions

3 True / False Questions

4. Short answer Questions
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Which is the best use of diagnostic evaluation?

. Before going to teach a new lesson
Z. When defects are identified during teaching learning
process
¥ After completion of the teaching
4. Teaching is going on
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In the process of preparing an evaluation tool, which is the
first step

1 Predetermine the Scoring Procedure

2 Identify the objectives of the evaluation
3 Selecting different forms of questions
4. Standardization of the tool with experts
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